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if distance < 2.19 and (current_time - last score time) > coocldown:
score += 2
last score _time = current_time

print({"{ga +2")
print("Current Distance:", distance)

emitter.send(str(2)) # &5
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def youbot local to world(local pos):
youbot node = supervisor.getFromDef( 'youbot")
if youbot node is None:
raise RuntimeError("$#-F2| DEF & youbot &J Robot #1{5")
youbot translation = np.array(youbot node.getField('translation').
youbot rotation = youbot node.getField('rotation’).getSFRotation()
youbot axis = youbot rotation[:3]
youbot angle = youbot rotation[3]
youbot rot mat = axis angle to rotation matrix(youbot axis, youbot
rotated = youbot rot mat @ np.array(local pos)
world pos = youbot translation + rotated
return tuple(world pos)

def create static sphere(supervisor, x, y, Z):
global waiting ball def, waiting ball info
def name = generate valid def name()
waiting ball def = def name
r, g, b = generate random color()
world pos = youbot local to world((x, y, z))
waiting ball info = (world pos, r, g, b)
create static ball(def name, world pos, r, g, b)
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from controller import Robot, Keyboard, Emitter

# Constants

WHEEL_RADIUS = ©.1 # Radius of the wheels in meters

L

= 0.471 # Half of the robot's length

W = 0.376 # Half of the robot's width
MAX_VELOCITY = 10.0 # Maximum wheel velocity

# Initialize robot and keyboard

robot = Robot()

timestep = int(robot.getBasicTimeStep())
keyboard = Keyboard()
keyboard.enable(timestep)

# Get motors

wheel5 = robot.getDevice("wheel5") # Front-right
wheelé = robot.getDevice("wheel6") # Front-left
wheel7 = robot.getDevice("wheel7") # Rear-right
wheel8 = robot.getDevice("wheel8") # Rear-left

if ord('M') in keys or ord('m') in keys:
print("Distance (M):", distance)

if ord('K') in keys or ord('k') in keys:
print("Distance (K):", distance)

if distance < ©.18 and (current_time - last_score_time) :
score += 2
last_score_time = current_time
print("En +2")
print("Current Distance:", distance)
emitter.send(str(2)) # HELEH

# Movement control
if ord('U') in keys or ord('u') in keys:
set_wheel velocity(MAX VELOCITY, MAX_VELOCITY, MAX VI
elif ord('J') in keys or ord('j') in keys:
set_wheel_velocity(-MAX_VELOCITY, =MAX_VELOCITY, =MA
elif ord('K"') in keys or ord('k") in keys:
set_wheel_velocity(-MAX_VELOCITY, MAX_VELOCITY, -MAX
elif ord('H') in keys or ord('h') in keys:
set_wheel_velocity(MAX_VELOCITY, -MAX_VELOCITY, MAX_)
elif ord('Q') in keys or ord('q') in keys:
print(“Exiting...")
break
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